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6+3=9
3+6=9

9-3=6
9-6=3





а + к = к + а
а – 8 = а – 8
с – к < с + к
а + в > а – в

9 – х = 4 y + 5 = 7
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Х–8=2 3+y=9 8–х=5



                    

                           х-8=2 
                                          х=8+2
                      х=10   

                                         10-8=2
                                           2=2                      

Алгоритм проверки решения 
уравнения



3+у=9
у=9-3
у=6
3+6=9
9=9

8-х=5
х=8-5
х=3

8-3=5
5=5
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• Купили 8 тарелок. За 
обедом 2 тарелки 
съели. Сколько 
тарелок осталось?

•На дереве сидели 7 
ворон. 4 вороны 
улетели.

•Леший нашёл рыжики 
и подберёзовики. 
Сколько всего грибов 
он нашёл?
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2 1 9 0 3
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